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QID : 101 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The bell rung (1)/ while | (2)/ was brushing my teeth. (3)/ No error (4)
Options:

Correct Answer: 1
Candidate Answer: 3

QID : 102 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The British Council has brought Museum of the Moon to India (1)/ to mark the last phase of the UK-India Yearof Culture (2)/ and 70 year of the British Council in
India. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 3

QID : 103 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Everyone is mad each other.
Options:

1) to

2) for

3) towards

4) at

Correct Answer: at

Candidate Answer: at

QID : 104 - In the following question; the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The mind gives man the ability to understand, think and feel and is the of the soul.
Options:

1) Innovation

2) temptation

3) invention

4) manifestation

Correct Answer: manifestation

Candidate Answer: Innovation

QID : 105 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Devoid

Options:

1) Empty

2) Complete

3) Sufficient

4) Happy

Correct Answer: Empty
Candidate Answer: Complete
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QID : 106 - In the following question, out ORQWQIQ@QQQVKQJ’IE&MJ&V&J@&§§§S%@%nmg of the given word.

Monolithic

Options:

1) Huge

2) Written

3) Minute

4) Cramped

Correct Answer: Huge
Candidate Answer: Cramped

QID : 107 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Baffling

Options:

1) Puzzling

2) Unclear

3) Mystifying

4) Comprehensible

Correct Answer: Comprehensible

Candidate Answer: Comprehensible

QID : 108 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Scholarly
Options:

1) Learned
2) Ignorant
3) Cultured
4) Trained

Correct Answer: Ignorant
Candidate Answer: Ignorant

QID : 109 - Rearrange the parts of the sentence in correct order.

The majority of

P : during the general elections
Q : highly educated Indians
R : do not vote

Options:

1) RPQ

2) PRQ

3) PQR

4) QRP

Correct Answer: QRP
Candidate Answer: QRP

QID : 110 - A sentence has been given in Active/Passive Voice. Qut of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

He ate pizza ravenously.

Options:

1) Pizza is eaten by him.

2) Pizza was eaten ravenously by him:
3) Pizza was ate ravenously by him.
4) Pizza ate ravenously by him.

Correct Answer: Pizza was eaten ravenously by him.
Candidate Answer: Pizza was eaten ravenously by him.

QID : 111 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct.Speech.

“Is it snowing?” she asked.

Options:

1) She asked whether the snow has started.
2) She inquired about the snow.

3) She ask whether it was snowing.

4) She asked if it was snowing.

Correct Answer: She asked if it was snowing.
Candidate Answer: She ask whether it was snowing.

QID : 112 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Accommodate

2) Acommodate

3) Accomodate

4) Accomeodate
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Correct Answer: Accommodate
Candidate Answer: Accommodate

QID : 113 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities will emerge in art, and literature from social media. Instant stars are born via viral postings but self-selection be the best filter to
extract the superstars of the ilk of history’s greatest.

But there is reason to worry
Options:

1) none

2) neither

3) nor

4) no

Correct Answer: no

Candidate Answer: no

QID : 114 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. isalso erowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities willemerge inart,____ and literature from social media. Instant stars are born via viral postings but sélf-selection._____ be the best filter to
extract the superstars of the ilk of history’s greatest.

social media. is also crowd-sourced
Options:

1) Creativity

2) Creative

3) Creation

4) Create

Correct Answer: Creativity
Candidate Answer: Creativity

QID : 115 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmikiis being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities willemerge inart, _____ and literature from social media. Instant stars are born via viral postings but self-selection _______ be the best filter to
extract the superstars of the ilk of history’s greatest.

take birth die every minute.
Options:

1) nor

2) and

3) for

4) neither

Correct Answer: and

Candidate Answer: and

QID : 116 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forestfor the trees when so many postings, | mean trees, seem to take birth____ die every minute. | am certain that some great creative
personalities will emerge inart;e. . and literature from social media. Instant stars are born via viral postings but self-selection _________ be the best filter to
extract the superstars of theiilk of history’s greatest.

emerge in art, and literature
Options:

1) musically

2) musician

3) musical

4) music

Correct Answer: music

Candidate Answer: music
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QID : 117 - In the following passage, somJDfQIMrlQ ?agl%gnn’pm Wpigéég @§§@§ng&m the correct answer for the given blank out of the

four alternatives.

But there is reason to worry that the next Shakespeare or Valmiki is being suppressed by social media. is also crowd-sourced even though
we just can't see the forest for the trees when so many postings, | mean trees, seem to take birth die every minute. | am certain that some great creative
personalities will emerge in art, and literature from social media. Instant stars are born via viral postings but self-selection be the best filter to
extract the superstars of the ilk of history’s greatest.

self-selection be the best
Options:

1) since

2) until

3) may

4) whether

Correct Answer: may

Candidate Answer: may

QID : 118 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A cold fish

Options:

1) Someone who seems unfriendly and who does not share his feelings.
2) Something valuable preserved for a long time.

3) A lost business opportunity.

4) A fish which can survive in freezing water.

Correct Answer: Someone who seems unfriendly and who does not share his feelings.
Candidate Answer: Someone who seems unfriendly and who does not share his feelings.

QID : 119 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning‘of the idiom/phrase.

Bend over backwards

Options:

1) Use unfair means to succeed.

2) Make every effort to achieve something, especially to be fair or helpful.
3) Lose self respect to please others.

4) To step back from an unpleasant situation.

Correct Answer: Make every effort to achieve something, especially to be fair or helpfuls
Candidate Answer: Use unfair means to succeed.

QID : 120 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A stately or impressive building housing a tomb or group of tombs
Options:

1) Mausoleum

2) Shanty

3) Hovel

4) Tepee

Correct Answer: Mausoleum

Candidate Answer: Mausoleum

QID : 121 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Exposed to the possibility of being attacked or harmed, either physically or emotionally
Options:

1) Robust

2) Tenacious

3) Vulnerable

4) Stout

Correct Answer: Vulnerable
Candidate Answer:Robust

QID : 122 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed;select "'no improvement”.

There was hardly-any traffic and my father told us the history of the place we (is trekking) to.
Options:

1) was trekking

2) were trekking

3) were trek

4) no improvement

Correct Answer: were trekking
Candidate Answer: were trekking

QID : 123 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

You (have been) a very good girl.
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Options:

1) has been

2) is been

3) have being

4) no improvement

Correct Answer: no improvement

Candidate Answer: have being

QID : 124 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

In those days
A-ambulances available on
B-call to ferry patients to hospitals
C-there were hardly any
Options:

1) BCA

2) BAC

3) ACB

4) CAB

Correct Answer: CAB
Candidate Answer: CAB

QID : 125 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word .
Options:

1) valedection

2) velediction

3) veledection

4) valediction

Correct Answer: valediction

Candidate Answer: valediction

QID : 126 - In the following question, two statements are given each followed by two conclusions;l,and Il. Youshave to consider the statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which of the given conclusions,ifiany, follows from the given statements.

Statement I: Medicines today have become an integral part of everyone’s life.
Statement 2. People undergo medicinal treatment at any age.

Conclusion1: Lifestyle has made us easy going and less caring for health.
Conclusion2: Medicines have become compulsory part of one’s life.

g Mg vy & o HU SR I 1 I HUFIR enRa FB e Ry g &, gretifeh $HE IR AT d2 § A= g gt 81 Tt ey o ofk i RafRa R s Ry g aalm &
ey, i3y 7Tq ot & SR wR gfhera &1

YT 1: EaT4 37T g% et & Sfta &1 e SifRard feeam a9 7€ &

Y 2: AT et et of Su A sitwefta SueR @ e gt 21

frsenef 1: Sfiemielt = &8 gfaemiivh ofk Sga & ufd arazare a1 fear gl
frepef 2: gaTd Sftae et siffard e a7 7€ 81

Options:

1) Only conclusion 2 follows

haet Ry 2 A g &

2) Conclusion 1 and 2 both follow

e 1 3R 2 g e gar @
3) Neither 1 nor 2 follow

T 1 3 2 aAr gl @
4) Only conclusion 1 follows
1@y
Correct Answer: Only conclusion 2 follows

Fad freny 2 AF gt §

Candidate Answer: Neither 1 nor.2 follow

7 fseRy 1 7 € 2 angEtand

QID : 127 - Select the related word/letters/number from the given alternatives.

Rickets : Bone::.: Thalassemia : ?
T g fereredl # @ Heifdq 2rea/31eR /e sl gHT|
@t gg : : daefifimn: ?

Options:
1) Brain
ARISH

2) Kidney

3) Blood
Th

4) Liver
gpd
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Ih

Candidate Answer: Blood
h

QID : 128 - Select the related word/letters/number from the given alternatives.
FG:13::UV:?

g Mg faeredt & § Tefda erea/ 1R/ s g
FG:13::UV:?

Options:

1) 45

2) 55

3) 21

4) 43

Correct Answer: 43

Candidate Answer: 43

QID : 129 - Select the related word/letters/number from the given alternatives.
543:12::764:7

g 7Tq faemedt § @ Hefda e/ siar/we@ &t gl
543:12::764:7

Options:

1) 25

2)17

3)23

4)16

Correct Answer: 17

Candidate Answer: 17

QID : 130 - Select the odd word/letters/number/number pair from the given alternatives.

g 1 faeredt & @ fowm sree/ sreR/dwen/ @ g ot gl

Options:

1) Light pen
SIECASE]

2) Monitor
AifeR

3) Printer
ez

4) Speaker
e

Correct Answer: Light pen
SIECRE

Candidate Answer: Light pen
CIEGAC]

QID : 131 - Select the odd word/letters/number/number-pair-from the given alternatives.

g My fareredt & @ fawm Sree/ sreR/ e/ T g ot Il

Options:
1) PT

2) DH
3)vz

4) KN
Correct Answer: KN
Candidate Answer: KN

QID : 132 - Select the odd word/letters/number/number pair from the given alternatives.

g g faeredt & § faww sree/sreR/<wean/dvean g ot gHg|

Options:
1) 190

2) 149
3)197

4) 191
Correct Answer: 190
Candidate Answer: 190
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g 7 foeredt & 9 fowm srea/ sreR/dven/ @ g ot gl
Options:

1) 363

2) 297

3) 253

4) 487
Correct Answer: 487
Candidate Answer: 487

QID : 134 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. Triangle, Square, Pentagon, ?

Teh S1eRH foam B, O @ e v g 81 g g et B @ ag e gy, St srgera Y g aRe | fenton, R, darentor, 2
Options:

1) Decagon

Sy

2) Heptagon

LSt

3) Octagon

STEYS

4) Hexagon

&S

Correct Answer: Hexagon
&S

Candidate Answer: Hexagon

RS

QID : 135 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. 200, ?, 50, 25, 12.5

e SreRH foam mar 8, O € Uk ue g &1 Ry 7Y fenedt & 9§ ag faehed g, St sreRd &t g1 621200, 2, 50,25, 12.5

Options:
1) 123

2) 225
3) 100

4) 198
Correct Answer: 100
Candidate Answer: 100

QID : 136 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. 40, 70, 130, 220, ?

Qe SeRH foam mar 8, O € Uk ug g &1 Ry q Rrenett & & ag faered g, Sit srgeR ot grr &Rkl 40, 70, 130, 220, ?

Options:
1) 425

2) 430
3) 150

4) 340
Correct Answer: 340
Candidate Answer: 340

QID : 137 - A series is given.with one term missing. Choose the correct alternative from the given ones that will complete the series. DFE, GIH, JLK, ?

e STehH o T g, e @ o ue g 81 iy g et & @ 9 fdenen gy, St orgeRd Y g kI DFE, GIH, JLK, ?

Options:
1) LTS

2) 1K
3) MON

4) PRS
Correct Answer: MON
Candidate Answer: MON

QID : 138 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series. IJ, MN, RS, ?
Qe 31 o T 8, e @ g ue g 81 Ry 1y et # & a8 fened gfg, St orgeed & g ai 1J, MN, RS, ?
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Options:
1) NM

2) BA
3)0P

4) XY
Correct Answer: XY
Candidate Answer: XY

QID : 139 - If the tenth day of a month having 30 days is Tuesday, then what day of the week will the last day of the same month be?

Tfe 30 7 aTet Ueh HEM & cai i HaR §, df GwdTg T shi=-a1 fem 39 HgiA a sifaw f& ghm?

Options:
1) Monday
IR

2) Friday

Q\I

3) Wednesday
gUaR

4) Sunday
NG

Correct Answer: Monday

Candidate Answer: Friday

RAhdR

QID : 140 - Arrange the given words in the sequence in which they occur in the dictionary.

i. Derogate
ii. Dictum

iii. Dictate

iv. Dictionary

frfafaa el &l areaentsr & o1 aTet oA & SIER ford|

i. Derogate

ii. Dictum

iii. Dictate

iv. Dictionary

Options:

1) v, ii, i, iii

2) iii, iv, i, i

3) iv, i, i, i

4) i, iii, iv, i

Correct Answer: i, iii, iv, ii
Candidate Answer: i, iii, iv, ii

QID : 141 - In a certain code language, “INTERVIEW" is written as “VIEWRINTE” How is “PROTECT” written in that code language?

e fafre s wrom & "INTERVIEW" &t "VIEWRINTE" foRar STran &1 59 hts arom & “PROTECT" @t fohd UepR forar sirgem?

Options:
1) ECTTPRO

2) ETCTPRO
3) ECTTPOR

4) CETTPRO
Correct Answer: ECTTPRO
Candidate Answer: ECTTPRO

QID: 142~
In the following question, select the missing number from the given series.

Fafafed uy 4 fdu T fdsenl § O g @i F1d S

54 1 9| 45
61 | 12| 49
45110 7
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Options:
1) 45

2)10
3)35

4) 50
Correct Answer: 35
Candidate Answer: 35

QID : 143 - If “A” denotes “added to”, “C" denotes “divided by”, “D" denotes “multiplied by” and “B” denotes “subtracted from”, then 192C2D5B8A6="?

i A" 1 1 “Sis” §, “C” @t 31 “9mT” 8, “D” 1 e ‘o’ & 3R “B” @1 31ef “HeT" 8, A1 192C2D5B8A6=?

Options:
1) 402

2) 495
3) 478

4) 432
Correct Answer: 478
Candidate Answer: 478

QID : 144 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter séries shall complete it ?
X_za_c_yzab_

At osr & s1aRl o1 Sle A1 Tig @ref W IR AR T&@- 4 & T8 &R $Raa Sl IJ1 H3m?
X_za_c_yzab_

Options:

1) ybba

2) ybxc

3) bycx

4) Cccx

Correct Answer: ybxc

Candidate Answer: ybxc

QID : 145 - A watch shows 4:30 AM. If the minute hand is pointing towards:north, then‘which direction is the hour hand pointing to?

T TSt A GoI6 & 4:30 9T 35 ¢ I e &t g I R ahr ok 8, t o oS ot 3 o farem <ht o gift?

Options:
1) East

2) South
g

3) North-west
IR-ufga

4) South-west

Zfaror-ufgm

Correct Answer: North-west
W_

Candidate Answer: North-west
JR-
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A word is represented by only one set of numbers as given in any one
of the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to
4 and that of Matrix-1l are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its column,
for example, ‘N’ can be represented by 21, 67 etc. and ‘R’ can be
represented by 66, 57 etc. Similarly, you have to identify the set for
the word 'HUMP".

U eg $had Uh TEAI-THg gRI G T g, ol s faweal o @ faeit
ue | foar m 31 faeed o o o em-ung 2Rt & & o9 g1 guiie
L g, o o ST U a1 SMeg! | 51 3Medg- & W 3R Ofad & €. 0
3 4 3R AFG-11 P 5 951 37 AFG! U U 48R H Ugel S| Ulad
R 918 H W TS §RT =i & Ydbhdl ¢ SaIgevl & ferd 'N' &l 21, 67
1S R ST 1 Hahall § TUT 'R D 66, 57 3G GNT G241 &I Hepall g
34 Te ¥ gw! uy § BT 8 Hume' & T S @) teaEA B

Matrix-I Matrix-11
STogg - | g - 11
0j1]2]3]|4 5(6|17]18]9
O|H|R|A|N|B 5 HIMU]T]Q
TIW|{U|N|JH|L 6| X|R|IN|W|P
2|E|N|S|H|O 71C|S|Y|E|U
SIN|Y|[P|OM 8ISINIM|M|S
4 | HIM[O|F|A 9/G|B|E|[RU
Options:

1) 23,57, 41, 88
2)13,11,34,69
3)32,02,11,86

4) 00, 99, 87, 33
Correct Answer: 13,11, 34, 69
Candidate Answer: 13, 11, 34, 69

QID : 147 - Introducing a girl a boy says, “She is the only.daughter of the wife of my brother-in-law”. How is the girl related to the boy?

Teh oTadh! ol IR &RIA §U U TSl Shadl 8, T8 7R SEAIS/aTe &l Uc! il gehelld) 981 81 “dg el 99 oadh @ &hd Tafdd 82

Options:
1) Sister-in-law

2) Mother
=

3) Daughter
&

4) Niece

oftt/ yefisit

Correct Answer: Niece
aftt/ yefisit

Candidate Answer: Niece
ofishl/
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If a mirror is placed on the line MN, then which of the answer figures is
the right image of the given figure?

I Te TU BT Mn TG TR I@1 1L, T1 €1 T8 ST Apfaal & 9 & 4
Tl Uy Apfa &1 To! wiafers gl

=)

Options:
1)

2)

3)

4

Bl DB |Z] X

Correct Answer:

X

Candidate Answer:

X

QID : 149 - Identify the diagram that best represents the relationship among the given classes. Ministers, Politicians, Actor

g AR A St A feQarg af & e & Gefer ot et fAeuor shear g1 FEt, Teifaes, sifeear
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1)

&

2)

©

3)

9

4)

S

Correct Answer:

9

Candidate Answer:

g

QID : 150 -

A piece of paper is folded and punched as shown below in the quees-
tion figures. From the given answer figures, indicate how it will appear
when opened.

Hid & Uy APl H fCa 2 HR ST &I Gigd? Bad adl G &
915 a8 frd IR STofa o s S
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1)

el

oy

3)

QID:151 -
If 11a =116 =29282 find the value of ?.

afE 11a +11b =20282 %,Eﬂ% FT A 7 Bl

Options:
1) 661.5
2) 663.5
3) 665.5
4) 667.5

Correct Answer: 665.5
Candidate Answer: 665.5

QID : 152 - If the sum of two numbers is 25 and their product is 156. Find the larger number.

g 3 FezTsti ol 1T 25 § Sl I UM 156 &1 ISt T A1 R |

Options:

1) 11

2)12

3)13

4)15

Correct Answer: 13
Candidate Answer: 13

QID:153-
If 162%% =64 , then What is the value x'

afg 162" =64 §, @I X & HA AT B
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1)-9/4

2; 9/4

3)-18/4

4)18/4

Correct Answer: -9/4

Candidate Answer: -9/4

QID: 154 -
Find the value of ‘X', if 8% x 32% =210,

X' & A AT 1, A 85 x32¢ =20 g

Options:
1)1/8
2)10/8
3) 20/8
4) 30/8

Correct Answer: 10/8
Candidate Answer: 10/8

QID : 155 - The radius of the two concentric circles is 5 cm and 13 cm. The tangent to the smaller circle is the chord to the greater circle. What is the length (in cm) of
that chord?

3 TA e AT gl o e 5 At ofk 13 S 81 B¢ g i wuReaT 8 gd o forg Sfiar 81 39 Sftar i s (S #) = g?

Options:

Correct Answer: 24
Candidate Answer: 12

QID: 156 -

AB, EF and CD are the parallel lines as shown in the adjoining figure below. The
dimensions of the sides GE= 6 cm, GC=12 cm and DC=16 cm. Calculate the
length of EF.

AB, EF 31 CD @aeior @rd § At ey e o & & Rae v §) s=msit
F HH GE = 6 ¥H[ GC = 12 I HX DC = 16 AT #1 EF Y s =i
IO (TAT ) FL

o

Options:

14

2)8

3)10

4)12

Correct Answer: 8
Candidate Answer: 8

QID : 157 - If P is 50% less than Q and Q is 70% more than 640, then what is the value of P?

Tfe P, Q & 50% A & 9T Q, 640 T 70% 31fdeh &, aY P o1 AT T &7
Options:

Correct Answer: 544
Candidate Answer: 544
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QID: 158 -If x:y =y : z, then what is the ane(% xp!lgaded from www.kvclasses.com

g x:y=y:z& @x3 yd A A §?
Options:

1) X yz

2) X y2 z

3)x:z

4) 7 Xy

Correct Answer: X : yz

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In an amalgam, mercury and silver are in the ratio of 3 : 7. In the second amalgam, the ratio of same elements is 1 : 9. If equal quantities of these two
amalgam are mixed to form a new amalgam, then what will be the ratio of both of these elements in the new amalgam?

Ueh URS-ASI07 §, URT a7 97t 3 : 7 3 0T & &1 TR URS-ASI01 § FHM I ol SIUTd 1 : 9 &1 IS Yk 70T URS-MHS01 &9 & folg 3 &F URS-fAs(olt i sRieR AT ot femar
Y, At 1Y URE-A707 § 37 T deal AT SIgTd T gHT?

Options:

01:4

2)7:81

3)4:15

4)2:7

Correct Answer: 1:4

Candidate Answer: 1:4

QID : 160 - Average of the weight of 138 students of a school is 45 kg. If the average weight of the boys is 49 kg and the'average weight of the girls is 25 kg, then what
will be the respective ratio of the total weight of boys and the total weight of girls?

Ueh femera & 138 faenfefal & WR & oftad 45 fon.am. €1 aft Tl & Sffd ¥R 49 foh.am. qe eforal & offd R 25 fR.I. &, /@t Sen o et R JAT S chdll oh el MR T SHALT:
YT T 82

Options:

1)5:43

2)49:5

3)3:49

4)7:1

Correct Answer: 49 : 5

Candidate Answer: 7 : 1

QID : 161 - What is the difference (in Rs) between the compound interest (compounded annually) and simple interest for 3 years on a principal of Rs 2500 at the rate
of 30% per annum?

2500 % & gaed WR 30% F arftien &z & 3 auT & Iehqfeg TS (TR TAISH) TUT TTURUN AT & Hed ek (T F) H1 82

Options:
1) 742.5
2) 624.5
3) 714.5
4) 825.25

Correct Answer: 742.5
Candidate Answer: 742.5

QID : 162 - A person sells a pen at 15% profit. If he had bought it at 7% less price and sold it for Rs 250 more, then he would have gained 25%. What is the cost price
(in Rs) of the pen?

Teh Afh Teh et Y 15% AT TR ST gl 1% a8 STh! 7% i Hed R WGdl a7 3§ 250 & 4fdek § =, dt 3§ 25% ol 1T SidT| et T shd T4 (3 H) 1 87

Options:
1) 20000
2) 18000
3) 25000
4) 23000

Correct Answer: 20000
Candidate Answer:25000

QID : 163 - The marked price of a chair is 75% more than its cost price. What maximum discount percentage can be offered by the shopkeeper to sell his chair at no
profit or no loss?

Qe T o Sifchd Hed, I8 o Hed § 75% SHf §1 HMER GRT STU+T et ot = foReht @1t Sreran =1 8 foneft &1 R e & forg, srfdream foram wfcrar &t e & S et 82
Options:

Correct Answer: 42.85
Candidate Answer: 42.85
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QID : 164 - What is the square root of the SQQWQ@@@.%QrafFQ]erWW kVCIasseS .com

T 36 T urepfcren TRearstt & Tl 1 vt &7

Options:

1)6

2) 36

3) 64

4)72

Correct Answer: 36
Candidate Answer: 36

QID : 165 - 21 workers can repair a road in 40 days. If they are joined by 7 more workers, then in how much time (in days) the road can be repaired?

21 iffer Uk T Y T 40 e & o Topd &1 IS Ik 1Y 7 9 oifieh 9 O &, at fovae oo (Rt &) & e ot oTd 8t wendlt 82
Options:

Correct Answer: 30
Candidate Answer: 30

QID : 166 - Two trains are moving towards each other with the speed of 25 km/hr and 83 km/hr respectively. What will be the distance (inimetres) between the trains
one second before collide?

Y YT geh gER Y avth shAST: 25 foh.H. /et qur 83 fh.H./der Y nfd & =t w6 81 T @ Uk Gahve ugd Yermieal & i foharigdh (e #) gifi?

Options:

1) 32

2) 35

3) 30

4) 40

Correct Answer: 30

Candidate Answer: [ NOT ANSWERED |

QID: 167 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs4000s.
Study the diagram and answer the following questions.

Ig 9 W6 U fafise goei@ew R & Wherey &
faffiet sEt & 1 7= &1 o & 3=+ et &
gl ¥l 30 N 7 3T w1 SeREiarad geal

& Ik gl
Sales (in Rs 1000s) / fashr (gam suat #)
450 200
Gl sap
30 1 220 280, 280
am i
250 -
200 - 160
150
100 I
50
o T 1
A B c ) E ki &
Refrigeratorbrand / 3=zt @18

Sales of which refrigerator brand were the second highest?

for YRR & sifs Y gudt gafferen faehr oft?

Options:
1) G

2)D
3)A

4)C
Correct Answer: D
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Candidate Answer: D
QID: 168 -

The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

I s A% UH faflse gelaeiass R & e &
faffiet sist & 1 7l i B & s & eo) suat &
gl 1 30 IN@ &1 ey HY 3R Aeafaf@a veat
& 3R S

Sales [in Rs 1000s) / Y (gam st ) O
450 200

50
00 160 2
150

100

50

a

A B € ] £ ¥ ] @
Refrigerator brand / {Faiiet @18 C
5 B 3R 517 E & skl a1 srgura & 82

Options: 6
1)7:4
2)4:7 \

What is the ratio of sales of brand B to that of brand E?

3)4:1

4)1:4
Correct Answer: 7 : 4
Candidate Answer: 7 : 4
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The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig §X A% UH fafse goaeifasn R & Wk &
Raffieet sish & 1 7l A 6h & e A gor ot &
gelier 1 50 M@ F ey w3 Fefaf@a weat
& 3R T

Sales (in Rs 1000s) / fasft (o ot )

450 400
400 i

e 280 280

300

100
. L 4
a
A B c o E F 6
Refrigeratorbrand / Izt @18 @
Sales of brand F was greater than that of brand E by .
gieFR R s ERgama @ aifdas o

Options:
1)1.5

- \@6
¢,

4) 0.6
Correct Answer: 1.5
Candidate Answer: 2.4
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The bar graph shows 1 month's sales figures of different
brands of refrigerator of a certain electronics store in Rs 1000s.
Study the diagram and answer the following questions.

Ig IR A% U fafdse soedii@ew ©R & e &
fafftet sEt & 1 7= &1 o & 3= & o suar A
gl ¥l 30 N 7 WAt 3R Al el

& Ik gl
Sales (in Rs 1000s) / fashr (ga wwat #)
450 200
m i
340
350 1 320 280 280
am i
250 -
200 - 160
150
100 I
50
ol i )
A 8 c D P L 6
Refrigeratorbrand / Izt @18

If the sales figures are exclusive of tax then at the rate of 5% tax how much is the tax to be paid (in Rs) on the sales of all the 7 brands of refrigerators?

e fcht & sriche & e AfAiet 18 §, <t 5% chl &R & ot 7 1St oh AThoRed & feht wR e 2 (Fudhal) 311 w2

Options:
1) 10000

2) 1000000
3) 100000

4) 1000
Correct Answer: 100000
Candidate Answer: 100000

QID : 171 - The length of the diagonal and the breadth of a rectangle is 29 cm and 20 cm respectively. Calculate its area (in cmz)A

o A & faeruf Y oard ofk 3T S &t diets shAsT: 29/ FerHtex 8l 20 éHtex &1 369 eFther (aif Téiwtex &) Y mormT hi|

Options:
1) 840
2) 160
3) 320
4) 420

Correct Answer: 420
Candidate Answer: 160

QID : 172 - If the area of a.semi-circle is 308 cm?, then find its radius (in cm).

I Uk S1gg T Sther 308 af Jéex 2, at st s (Séer #) F1d |

Options:
1) 28

2)10
3)20

4)14
Correct Answer: 14
Candidate Answer: 14

QID : 173 - The volume of a hemisphere is 718.67 cm3. Find its diameter (in cm).

eh STl ol A 718.67 4 AR 81 33ent &y (Fhfier &) wma e
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2; 28

3)14

4)21

Correct Answer: 14
Candidate Answer: 7

QID : 174 - What is the value of (sec450 + 1/v3) ?

(sec450 + 1/v3) ol H a1 872

Options:
1) (2+v3)/2V3

2) (2+2v3)/V3
3) (2+2v3)/3

4) (V6+1)/V3
Correct Answer: (V6+1)/v3
Candidate Answer: (vV6+1)/v3

QID : 175 - In AABC measure of angle B is 900. If cosA = 8/17, and AB = 4cm, then what is the length (in cm) of side BC?

AABC % @tor B &1 |19 900 81 32 cosA = 8/17 3R AB = 4 §dHiex &, At ofoft BC &t wiard (S8efex &) &2
Options:

1)8.5

2)7.5

3)5

4)6

Correct Answer: 7.5

Candidate Answer: 5

QID : 176 - Most of the sculptures in 'Rani ki Vav' are in devotion to?

Y Y are F sifdreniar it fohachy s 7 €2
Options:

1) Shiva

fRrar

2) Ganesha
TToYRT

3) Mahavira
HETER

4) Vishnu
Correct Answer: Vishnu

Candidate Answer: Shiva
fRrar

QID : 177 - For the movie "Jab We Met", Kareena Kapoor won the Filmfare Award for

fOhen 'Sig ff Ae' & g s apgr A 1@k oy fohemrthor qReehr St

Options:

1) Best Supporting Actress
TIAE Tg A1RHT

2) Best Female Debut
TS Afger ugett fhem

3) Lifetime Achievement
SteR 6t Juafed

4) Best Actress
IS AT

Correct Answer: Best Actress

FaIs arfsh

Candidate Answer: Best Actress

QID : 178 - Which Vitamin is essential for the absorption of calcium?

SR & sranvr & g S a1 e smasaes &2
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Options:

1) Vitamin E
[ECIEEE]

2) Vitamin A
[ECIEERY

3) Vitamin D
[ECIEEEC

4) Vitamin C
[ECIEEE:)

Correct Answer: Vitamin D

Candidate Answer: Vitamin D

QID : 179 - Cockroaches belongs to the phylum

RIHRIT TSt & Sfcfa ST &1

Options:
1) Echinodermata

2) Arthropoda

ayfarer

3) Platyhelminthes
S

4) Mollusca
Hiereent

Correct Answer: Arthropoda
3!

Candidate Answer: Arthropoda
amyfarer

QID : 180 - Chemical formula of Ozone is

St T T g _gl
Options:

1) H202

2) 0,

3) 03

4) NH3

Correct Answer: O3

Candidate Answer: O3

QID : 181 - Atomic number of which of the following elements is greater than that of Barium
Ffafed aat # 9 fradht axmamy e sRaw &t gom | i 82

Options:

1) lodine

I

2) Silver

e

3) Bromine

4) Gold

58

Correct Answer: Gold
~

Candidate Answer: lodine

QID : 182 - Commonly used abbreviation OS in computer science stands for?

FHRER T H SR TR AT fohdT ST arel dféied w1 oigw m 8?2
Options:

1) Operating System

SfoRfET feew

2) Operating Search

SffoRfET ot

3) Optimization System

SfeEATESIeE

4) Optimization Search
it e

Correct Answer: Operating System
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Candidate Answer: Operating System
TR e

QID : 183 - Who travelled throughout South Asia to teach Jain philosophy?

S deara e & ford ot afavor gferar &t ar forem &t oft?

Options:
1) Siddhartha Gautama
g miaw

2) Mahavira
3) Makkhali Gosala
ARGt TG

4) Chanakya
TOTRY

Correct Answer: Mahavira

Candidate Answer: Mahavira

QID : 184 - Mr Shah is willing to spend upto Rs 50 lakh for a German luxury car. Luckily he finds a dealer who says the price of thear is Rs 42'lakh. Mr Shah
convinces the dealer to give him 5% discount on the said price. Mr Shah's consumer surplus is

AT Mg Tk ST et SR o folg 50 ARE 3 dh @ A & [l JIR & | F19W € I3 Ueh SIoR e 8 STt shgal & foh R Y hiea 42 ara < g1 o9 g SeR &l 5 % e e &
g g1 Aat &1 i Mg T SuihT SRR fahae 87

Options:

1) Rs 8 lakh

8 AT T

2) Rs 10.1 lakh
101G ®

3) Rs 2.1 lakh
2.1 @

4) Rs 39.9 lakh
399G %

Correct Answer: Rs 10.1 lakh
101 =@ ®

Candidate Answer: Rs 10.1 lakh
101 =@ %

QID : 185 - Customs duty is an instrument of

T S[ees foherd Hefda 82
Options:

1) Fiscal policy
TRy +Hifer

2) Monetary policy
Hifses ifer

3) Trade policy
R Hifq

4) Revenue policy
NSESE

Correct Answer: Fiscal policy

Candidate Answer: Revenue policy
o Afa

QID : 186 - Radon is formed inithe alpha decay of

YT fohadh STeThT &1 e hIRUL 307 Bid 82

Options:
1) radium

2) uranium

3) actinium

4) thorium

uifam

Correct Answer: radium

Candidate Answer: radium
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QID : 187 - The circular depression containing a volcanic vent is called?

Teh ST & HgT IR R U gEIaR gaTd @Y T ST 87
Options:

1) Crater

S "

2) Smog

g

3) Crust

qugt

4) belta
Cal

Correct Answer: Crater
SATATHE

Candidate Answer: Crust

QID : 188 - Beijing is the Capital City of .

ST CARUSRIE T

Options:

1) Iraq
Rk

2) Thailand
DIEE

3) China
=

4) Russia
&

Correct Answer: China

Candidate Answer: Thailand

QID : 189 - Taj Mahal was built in

arsrge @l o gomar
Options:

1) 14th Century

14 Y graredt §

2) 15th Century

15 &t <1l &

3) 16th Century

16 ot raredt &

4) 17th Century

17 &t <1y

Correct Answer: 17th Century
17 <t <1y &

Candidate Answer: 15th Century
15 dt eraredt §

QID : 190 - Sikh Khalsa Army was formed under the rule of

g @reraT 31 fohgdh AT & dgd ST TS A2

Options:

1) Sher Shah
2R

2) Rana Pratap

]TOTT YdTq

3) Hemu Vikramaditya
[EEzlI]

4) Ranjit Singh

orsfia Rig

Correct Answer: Ranijit Singh

Candidate Answer: Ranijit Singh
RUNICAET

QID : 191 - Telephone was invented in which decade?

AT BT SR feher g3reh & garm am?



Options:
1) 1670s
1670s
2) 1770s
1770s
3) 1870s
1870s
4) 1970s
1970s

Correct Answer: 1870s
1870s

Candidate Answer: 1870s
1870s

QID : 192 - Which device is used to limit electric current in a circuit?

foreht wfthe & faega vare @t diffa s & forg o= o feargw v & wmar Sirar 82
Options:

1) Grid

firs

2) Capacitor

e

3) Fuse

e
4) Resistor
utaRtes

Correct Answer: Fuse
LS

Candidate Answer: Resistor
ech

QID : 193 - If a physical quantity has the units - ampere per meter squared, then what are it's dimensions?

af& gep +iferer AT &t 3ar § - TR ufa af A, at Skt e e giet?

Options:
1) [AL-2]

2) [ M-2]

3)[IL-2]

4) [AM-2]

Correct Answer: [| L-2]

Candidate Answer: [| L-2]

QID : 194 - Who conducts oath of office to the President of India?

YR & ALTUFT Y Frafer YUY HiA fearar &2

Options:
1) The Prime Minister
TeTHAT
2) The Chief Justice
g =i
3) Lok Sabha Speaker
AT JeHET
4) Rajya Sabha Chairman
STHHT 3Tegey
Correct Answer: The Chief Justice
g =i
Candidate Answer: The Chief Justice
g et

QID : 195 The number of parliamentary seats (Rajya Sabha) of Himachal Pradesh is

fRTaer uewr i Gudia Hi (s ) i Twe fhat 82

Options:
1)3

2)5
3) 11

4)16
Correct Answer: 3
Candidate Answer: 11



QID : 196 - Which sport is called the Gentleman's Game?

forg Q<1 ! Seetfi o1 T gl ST 82

Options:
1) Golf

N\

2) Baseball
ERCICH

3) Cricket
fohdhe

4) Snooker
T

Correct Answer: Cricket

Candidate Answer: Cricket

QID : 197 - Who is the author of "Rise of Kali: Duryodhana's Mahabharata'?

Options:

1) Anand Neelakantan
3TE Hetehe

2) R. K. Narayan

SR & TR0

3) Bharath Veeraraghavan
R Fr=raaT

4) Sakshama Puri Dhariwal
& g

Correct Answer: Anand Neelakantan
3G HteTcha

Candidate Answer: Sakshama Puri Dhariwal

&1 G ariare

QID : 198 - Pyrrhotite is an ore/mineral of

UTRICIST - T Geh 3% / WA 3

Options:
1) Lead
s

2) Nickel
fenet

3) Gold

™
4) Tin
7

Correct Answer: Nickel
[EET)

Candidate Answer: Nickel

QID : 199 - Which is the longest canal in the world?

farsy Y gt ofeft TeR e T 82

Options:
1) Panama
AT

2) Welland
ERS

3) Grand Canal
e

4) Corinth
FHIRky

Correct Answer: Grand Canal

Candidate Answer: Grand Canal

i Srrer

QID : 200 - In fertilisation of a flower, the fertilised central cell will develop into

Qe qod o s 3, efRra Skt atfren # ferenfera gt



Options:
1) zygote
i

2) embryo
o

3) endosperm

4) sperm
Ly

Correct Answer: endosperm

Candidate Answer: embryo

o





